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Il. PLANNING OF THE COURSE

Objectives of the course

e To provide an insight in the field of HRM and the systems we use to manage people in organizations.

e To clarify the underlying relationships between HRM issues and other managerial fields in the act of
managing organizations.

Content and format of the course

e Chapter 3 and 14 are not relevant for the international landscape of HRM, and are not a subject of
examination.

e MANAGING PEOPLE: green pages: 1 case out of these 16 chapters will be examined.

e EVIDENCE HR BOXES: these are no rules/laws, but they give the most important generalities that are
taken for granted in the HRM world.

Evaluation of the course
e Written closed book exam (70%)

- Question 1: 12 constructs, 6 lines => 2 to skip

- Question 2 & 3: open essay questions, you will have to make choices which test/interviews to
use, explain your choices.

- Problem oriented course

- 31 Mayor23June

- You will have to write 12 pages on the exam, don’t give the definition alone. You should come
up with your own examples.

- Use all the given lines, otherwise you will start with less points.

e Applied Assignment (30%)

- Develop a ‘HRM business idea’ and transform it into a ‘my-HRM-Company.com Business plan’

- PPT presentation including: the HR business idea, the way you would deliver it and a short
financial plan.

- Evaluation criteria: creativity of the idea, effort & attractiveness of the whole presentation and
the realistic nature of the entrepreneurial plan.

- You should allocate a wage to all your employees (including yourself)

- Why would people buy this product?

- Hire the right people

- Ex:burn-out

- B2B product for HR, set up a company

Fun fact
e The annual cost for 1 student to attend college in Belgium is 12.000 euros => that is 48-60K a degree.



1. HRM DEFINED

HRM is that part of organizational management which is focused on influencing people’s behavior in an
integrated and pro-active way. The final purpose is to increase the added value of the individual or
groups of individuals considering the strategy of the organization.
You can’t influence someone’s personality, but you can influence their behavior => drill the skill.
Interest of the group is more important than the individuals interest. HR tries to take care of the interest
of the group: if the existence of the company is at stake, then it is a good choice to fire people.
People need to add value; the added value of an individual is related to the strategy of the company.
The strategy can change, so the added value of a company changes, but the people don’t change.
Talent = commitment x competence x contribution

- Input factors: commitment and competence. You have it under control.

- Added value: contribution. Should be there.

- Example: there were a lot of people fired with the rise of online banking. Those employees were

competent and committed, but their added value had become too low.

1. POSITIONING THE HRM FIELD

Organizational behavior (OB) Orgamsan?gg\bemwou;fK ‘\mgam%’tﬂfl e
Trying to understand what happens with an individual when you put them in /L/—«J’* )

an organization. \{\_/\ZA

Time management, leadership, communication... \\\ /./

The goal of the company: how are we going to achieve profit. HAM

The OB should be clear and should be shared, otherwise the company should split. Ex: Aldi split in Aldi
Nord and Aldi Sud.
Examples:
- Nike: just do it: don’t ask your boss how to do things, just do it. It would also be weird if a boss
at Nike constantly corrects his employees. He has to let his people ‘just do their jobs’.
- Torfs: the employees must always greet their customers, they also must be there if the
customer needs them, but they can’t make the customer uncomfortable with their presence.
- Avis (car rental company): ‘we try harder’: they try to become the number 1. The worst thing
that could happen to them, would be becoming first. The energy of their goal would fall apart.
- Apple vs Microsoft: Microsoft used to be the biggest. People at apple would like to challenge
the norm, ‘think different’. The difference was made by a much higher price and the typical
white ropes (all tech related ropes used to be black).
Now Apple has become the norm in the phone business. The nature of the organization
changed, so there were people leaving.

Organizational design (OD) = organizational theory (OT)

How you structure your employees, expresses itself in organograms.

Structure follows strategy: if you do change the strategy, you must also adjust the structure. Changing
strategy isn’t that difficult, changing structure is. It’s difficult to measure the impact on the organization.
You have to reallocate power and that rises resistance.

Example: you will never hear about 2020 goals anymore, they are way to close now.

Structure doesn’t follow a lingual path, it has a pendulum movement: from left to right, from
centralization to decentralization.

Resistance against change: people start to stay in the middle of things, they let the movement pass.
They have already seen a lot of CEOs.



Human resource management (HRM)
Toolbox: fine tune so the structure follows the strategy, so the goal can be achieved.

2. FIVE BASIC PILLARS OF HRM

This model doesn’t come close to reality, but is helpful.

Strategy and structure: consider the circumstances of the labor market.
Example: in Flanders, there’s a low unemployment => people need to be
mobile. But in Spain, there’s a high unemployment => if you find a job, you g
need to keep it. )
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HR Planning !
Quantitative (numbers) and qualitative (important for e-businesses). Which
people do we need for our company? We know our budget and how many people we need.

ORGANISATIONAL CULTURE “SAHARAV”

Staffing:

Recruitment and selection go hand in hand.

The quality of the selection = the quality of the recruitment.
Purpose: to get the right man on the right place.

Developing

How to keep the right person in the right place.
Trading — developing — education

Career management (motivating)

Negotiation:

Industrial relations/blue collars: high unionization.

White collars: individual negotiation.

Europe: high unionization, especially in Sweden and other Scandinavian countries where the union is
part of the board.

US: the union has less power.

Work conditions: money, working hours, workplace conditions => capital vs labor.

Compensating & benefits
Motivating the employees. The payroll itself can be done by social nonprofit organizations.

Organizational behavior
The goal

Environment

A certain context, defined by the labor market.

The way we look at employment and unemployment.

Work goes where labor is available => low cost countries.

7% unemployment in Belgium = 400.000 unemployed people. But there is a mismatch. There are jobs
where we don’t find people for.

You need 2-3% of unemployment in order to function as an economy.



Organizational culture
e SAHARAV:

- The organizational culture can be compared with an onion. There are many layers that can be
separated. The onion can be rotten on the inside, but still look good on the outside. But the
onion can also look rotten on the outside, but look brand new if you remove one or two layers.

- From the outside to the inside:

o Symbols: reflection of the values in strong cultures.

o . try to cultivate them, they possess the values of the organization. Ex: Steve Jobs
There are also Anti-heroes: people who had a negative impact, once and never again.

o Rituals: things we’re used to do, unconscious behavior.

o Values: get linked to organizational behavior, consistency. Ex: German cars in a high-
quality company. If your car is a mess, you would get a not easy to remove sticker on
your front window. This was to ensure that the cars resembled the company’s values.

- Merge and acquisitions: try to change rituals and remove heroes.

3. THE HUMAN RESOURCE CYCLE (MICHIGAN MODEL)

e Employees are resources in the same way as any other business resource.
People have to be managed in a similar manner to equipment and raw

materials.

developed and exploited as much as possible.

e It requires that human resource strategies have a tight fit to the overall

strategies of the business.
e Selection: matching people to jobs
e Appraisal of performance

e Rewards: emphasizing the real importance of pay and other forms of compensation in achieving results

e Development of skilled individuals

e If you have consistently the same problem with your employees, you can change the selection criteria.

4. HARVARD ANALYTICAL FRAMEWORK (BEER)

e Beer expands the model with more context.

e Policies are not always logical, but the situational factors explain them partly.
e Stakeholders are permanent influenced by the situational factors.

5. HRM STREAMS

|

. . . Selection Performance Appraisal
e They must be obtained as cheaply as possible, used sparingly, and }Ej

Developmen

Stakehold
akeholder HRM policy chores HR outcomes
interests
s

Employee influence | Commitment
Human Resource flow Competence

Long-term
consequenci
Individual

effectivenes
Societal well bei

Reward systems Congruence
Situational | | Work systems Cost-effective
factors

INPUT: THROUGHPUT:
How to hire people How to keep people
Planning Appraisal
Recruitment Rewarding
Selection Training
Introduction Developing
Socialization Rotating

Job description Motivation
(Psychological) contracting Leadership

e Process view: build an organization based on different processes.

OUTPUT:

How to get rid of people
Retirement

Firing policy
Outplacement

Early retirement



6. HRM TRENDS

Seem to go in the same line.
Job => added value
Function => processes
Individual => team

Professionalism => co-markership

Pay for performance => pay for skills

Individual learning => organizational learning: learning in group, not as an individual.
Single-loup learning: experiment and search for the solution of a problem, the next day you treat a

different problem.

Double-loop learning: reflect on how you solved a problem. Those solutions can be re-used later on.

Control => empowerment
Homogeneity => heterogeneity

Functional domains => integration

From =>to

Tacit knowledge, Internalized
knowledge

External knowledge (books and
papers)

Tacit knowledge, Internalized
knowledge

Socialization

Externalization

External knowledge (books and
papers)

Internalization

Combine




IV. HRIMPLICATIONS OF CHANGING ENVIRONMENT, DEJOBBED
WORLD

1. PARADOXES OF OUR TIMES (CHARLES HANDY)

On the exam: write six lines about one paradox + give your own examples
Charles Handy: predict what is going to happen tomorrow. You will have to live with paradoxes, you
can’t solve them. His paradoxes are no critic, just observations.

The paradox of intelligence

Intelligence tends to go where intelligence is, geographical.

The best universities (like Harvard) are the best because they’re very selective on their students => brain
drain to the US.

Value of education in your family.

Employer branding: organizations try to brand themselves towards their employees. The biggest
companies have a bigger shot at recruiting the best employees.

The paradox of work

Some have work and money but too little time, while others have all the time but no work and no
money.

The rich will buy time with pre-cooked meals, pre-cut vegetables. Or they will give up bonuses for some
extra vacation.

There are jobs where people don’t earn enough, so they combine multiple jobs.

If you are unemployed, you consume 24/7: electricity, water...

Resulting in moonlighting and a bigger gap between unemployed and employed people.

The paradox of productivity

Ever more and ever better work for ever fewer people.

-%Xx2x3=P

Working more and harder with fewer people: half of the people have to work twice as hard and they
earn three times what they used to.

Resulting in less employees: 10% of the least productive people get fired. This process can be dangerous
for yourself as a manager. If you keep on firing those employees you will end up getting collective
anorexia nervosa (CAN).

It is useful to have some reserve for creativity and for future shocks.

The paradox of time

Some will spend money to save their time, others will spend their time to save money. Others, again,
will trade money for time at certain periods of their life.

There’s a trade-off between money and time.

Example: early retirement.

The paradox of riches

The rich societies are reproducing themselves less fast than the multiplying needy areas of the
developing world.

Reproducing rate in Europe = 1,8.

One kid policy was dropped in China: more people for consumption needed.



We can produce more than we can consume. We should be able to sell what we produce.

The paradox of organizations

To be global and local at the same time, to be small in some ways but big in others, to be centralized
some of the time and decentralized most of it:

Big companies copy from little companies (ex: their ability to react quickly to the environment), but the
big companies keep on thinking global (ex: advertisement).

Example: McDonalds offers now alcohol in Belgium and France, in the US this is not done in a family
restaurant.

The paradox of age

Every generation perceives itself as justifiably different from its predecessor, but plans as if its successor
generation will be the same as them.

You see the difference between your own generation and your parents’, there must be no conflict.
Example: daycare for small children (0-3yrs): 30€ in Belgium and 60€ in the Netherlands. In the
Netherlands, they can’t afford for their children to go to kindergarten every day, so the parents work
part-time in order to save some money. Daycare is heavenly subsidized in Belgium, so it’'s more common
for parents to bring their children to kindergarten every day. In the Netherlands, they won’t take
children for 5 days. Why would you want children, if you have to bring them to daycare every day? The
Netherlands are always a little ahead of Belgium, so we will see this trend in a few years in Belgium.
Example: Agfa- Gevaert: women were not allowed to work once they were married until 1975.

The paradox of the individual

One voice urges us to discover our ‘authentic self’, the other voice asks us the question ‘who do you
represent?’

We tend to think more and more individual, you want to represent someone.

A lot of people want to work for a big company, because it looks good on a business card.

The paradox of justice

Capitalism depends on the fundamental principle of inequality — some may do better than others — but
will only be acceptable in the long term in a democracy if most people have an equal chance to aspire
to that inequality.

Communism doesn’t work, there will be people who have it better than others. But it will only work in
a society where everybody gets the same chances to profile themselves.

You should watch out for people who have nothing to lose. If you don’t have anything, you can’t lose
anything => so why would you not commit a crime?

Example: bonuses only motivate the best employees, it will demotivate the others.

2. FROM JOB-THINKING TO ADDED VALUE THINKING: THE LATE, GREAT JOB
(H. MINTZBERG)

Jobs are disappearing and this time for good

There is still work, but the construct of a job is disappearing. Jobs were invented by Taylor 100 years
ago (50 years ago for services). He gave tasks to his employees. The difficult tasks developed to white
collar jobs, the easier ones in blue collar jobs. Taylor has taught us how to produce in an efficient way.
Psychological contract between employers and employees with mutual vows and agreements.
Important is that these contracts are between people, not between the organization and the employee.



Dejobbing: head-count-reduction mania.

Quantitative: less people needed. Employing people is not a goal anymore. We need to squeeze the
public organizations. There is no work for all these people.

Qualitative: the fixed job is no longer normative. No legal perspective, in the future there will be no job
title in a job contract. But the contract itself will not dissapear. You might not get a fixed job title. In
some cases, the legal contract wil also dissapear. In the Netherlands, there is a statute ZZP (zelfstandige
zonder personeel), they provide their serviceses, expierences and skills to companies. Not all those
people are high educated people. Half of the ZZP is earning a salary below the minimum salary.

Henry Mintzberg: what are companies doing/not doing. Simple

Complex

In complex environments knowledge is important. The admission [gioyic |
requirements are very high so that there is no copy-effect.

When you want to decide if a company is static or dynamic, you need to | Dynamic l
benchmark with competitors.

%

Complexity is easier to manage in a dynamic context. You will need people who fit in this context. If you
want your employees to stay, you will have to pay them properly. If they work at the company for a
longer time, they will develop an ego, and you will have to pay for that. You can pay them as much as
the customer wants to pay for them. If the customer is not willing to pay, you need to move the
organization from IV to Il and leave the dynamic context behind.

People show spontaneous the tendency to move to a more complex context.

- Intrinsic motivation: comes from interest.

- Extrinsic motivation: in order to get respect, people will see you as an expert.

Static complex: knowledge is cumulable. We assume that experience rises and keeps on rising, and that
we need to pay for this. But in a complex environment the added value doesn’t keep on rising, it even
tends to decrease.

- There is a gap between what an employee get payed and what his added value is. They
sometimes get payed above market value. This is problematic because the job will be
guestioned and it will be difficult to find a new job.

- Inthe beginning of your career you get less payed than at the end. But this disturbs the mobility
because you will less likely leave the company.

Dynamic: knowledge is no longer cumulable. You need to determine which knowledge you want to keep,
and which you don’t. Older people are less sensitive for innovation.

Ex: Afga Gevaert was to late for B2C, Siemens and Alcatel stayed with the fixed telephone.

Ex: Microsoft underestimated the importance of the PC.

Different environments:

) Problem that you will get copied, there are no entry barriers. Ex: night shop

1] Environment changes to slow. Ex: oil and government

) Changes quick. Ex: Fashion industry, there used to be 4 seasons each year, today there are
sometimes 12 to 52 fashions a year in Zara and Benneton. It’s not possible to produce
everything in China. So, Benneton gets its white clothes and fabric in China and colors them
according to the latest trend somewhere else.

V) This environment needs a specific kind of employees. They need to be flexible, easy to
adjust and competent. The employees need have the right knowledge and expertise. This
requires retention: keep your employees by paying them properly, giving them challenges
and recognition. This environment has a heavy financial component. It's affordable if the
customers want to pay for it.
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Why?
Change and the transformation of work

‘information’ the workplace

‘things’ vs ‘data’(business of data)

- Communication technology as ‘multiplier’

Strategies the organizations currently use to cope with change
Delocalizing work
“Hotelling”: job # office, the demise of the office
Hoteling: people don’t have a fixed workplace anymore. Companies are reducing their buildings for cost
reasons. But you also want your employees to communicate and not to be isolated. So you locate them
together so they can share ideas. You rent a office/room where everyone has a locker. The employees
will communiate in the hallways with eachother (= cross-communication).
Re-engineering work
Turbulence erodes job outlines: you can’t fixate this for a few years.
Jobs are change inhibitors
Change inhibitors (W. Briges): the dejobbing of the world. If you are not careful and you still give jobs
to people, people will be very territorial of their jobs. Jobs can become less complex. The job and the
person who performs it evaluate, but not always together. 'The chickens on an egg' will be the first who
will lose their jobs. By giving people jobs we inhibitor the change of a company.

The rise and fall of the good job
PAST: Jobs: building blocks in Tayloristic organizations
- Taylor always tried to reduce complexity by moving from Il to I.
- Unity of command: only one boss.
- Separation of thinking and do => white and blue collar jobs.
- Works best in a stable Il environment: common sense is good enough. Ex: car industry.
The rise of alternative jobs
- Some sectors are in a dynamic and complex market, but the customer doesn’t recognize the
added value. The company will have to reduce the dynamic.
- Ex: McDonaldization (G. Ritzer): moving from IV to II.

o McDo has a limited choice on their menu. But they have a consistency in quality and
standardized processes that are thought in the ‘McDo University’.

o Ex: The difference between Ryanair and an expensive airline company isn't safety, but
the service that is given. Because if a Ryanair plane falls out of the air, people will say: |
told you so, if an expensive company plane falls out the air, people will say that is an
accident.

o Ex: SAS would like to cancel economy class, because they can not compete with the
cheap companies. So they would like to focus on first class and business class, so they
can have smaller airplanes and smaller airports. Big cities are an disaster to get in and
get out. The traffic is stuck around the city. The first class costumers don’t want to be
at the airport hours in advance. So airports are creating fast lines for people who pay
more for their ticket. The difference isn’t a glass of champagne, but spending less time
waiting at the airport. These are the biggest new needs of the costumers.

o Ex:aldi has only 750 product numbers.

NOW: Emphasis on ‘added-value’ thinking. The added value can be very big (IV) or very small (1)
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3. FOCUS ON THE WORK THAT NEEDS TO BE DONE

TIM-J syndrome: that isn’t my job
I’'m my position: disability 1 Senge
Doughnut organization, Handy

Bridges: in an IV environment we hope that people aren’t sitting on an egg anymore. Jobs
are appearing as a reversed doughnut.

Responsability

In the center, there is your duty. The things you have to do, or you will get fired. The things
you do before 9am like checking your emails. It’s not in your job description, because is is
taken for granted. If you quit doing your emails, you will lose your job. But nobody is going
to give your recognition for doing it.

The outer imaginable circle is your responsibility/your job. The things you need to do to get promotion.
It's the extra engagement. During your working hours.
Jobs today have both parts.

Individual task vs team task: crew resource management:

Quality isn’t defined by the individuals, but by working together.

If you design different jobs, you have to make sure that duties do not overlap. Otherwise there will be
a territory fight. Responsibilities can overlap. It's possible that a costumer has a question that can’t be
given to one department.

Overlap = interfaces: interfaces can be developed in new doughnuts, but this will not always give a
solution for the problem.

Ex: FedEx: Imagine your parcel doesn’t come to its destination. So, you call FedEx and explain the
problem. Then you get the social architecture, the set of rules based on how we do business. The guy
who picks up the phone has an 30' callback policy, he doesn’t say he will fixed the problem. This callback
policy gives the customers a feeling that FedEx is still handling their problem. The risk with this policy is
that your employees will avoid their phones. FedEx has another policy. An phone call can only ring for 4
times. This is an min and a max. Because if you pick up the phone before the 4 rings, people are not
ready to talk.

In the end, it is also an individual who has to do the job, but there also a team task. Ex: there is always
a pilot whois charge. The other one has to listen and has to assist. If the airplane falls down, it is frequent
because of a lack of crew management. The copilot didn’t follow the instructions and did what he
thought was best.

Employability and learnability:

Contract: social law vs labor law is always protecting the employee.

The psychological contract is the mutual expectations and the mutual promises of employers and
employees. You do have this contract with your boss. The difficulty with this contract is very implicit in
the start. You promise to work hard, and the employer promise to give you an education and
opportunities. During the development of this contract he implicit terms will become clear.

If 2 people have the same duty, but they have different responsibilities. Than both are doing a great job,
but there is one employee who has a bigger responsibility.

- One of the solutions is a performance driven pay. So, people will take more responsibilities. You
would like for your employees to do the extra mile. You give bonuses to the more responsible
employees. This solution doesn’t implicate that the employee who doesn’t get the bonus is
unhappy. This is only the case if this person has the feeling that he did enough to get the bonus.
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- But the problem is, that you pay jobs for functions, not performance. Not all people have the
same needs. You can favorite the employee who behave good. Ex: employee of the month, put
them in the spotlights.

- In ahard-selling environment: the amount of sales equal the salary you get. If you sell 300 and
your colleague sells 150, you get the double salary. This environment exists, but in a small
context. People in sales, say that you have to pay for your prostrations. Still the half of the
salesmen in Belgium earn a fixed salary, and have no bonuses. This doesn’t make them bad
salesman, they wouldn’t work harder if there would be a bonus system.

4. DATA-PEOPLE

Desires
The will vs the skills:
- If you are working in a IV environment, you want your employees to show desire/passion for
their jobs. Today we are intolerant for quality mistakes. The customer is running off if you have
a quality issue. This is something typical in a world where you can produce more than consume.
- You can’t educate an interest. There is a difference between will and skill.
Do you know for every single employee what’s on their ‘desire list’?
Every employee has a desire list or button.
Where is the “desire button”
If they don’t, you have to search. Maybe their button has never been pushed on, so you have to push a
few times.
Some people must be protected against their desire:
- Otherwise they will go one step too far. They can’t live up to their own expectations. It can also
be bad for the brand name of the company.
- Ex: News lady who tackled a person so the police could catch him again. There’s a thin line
between making the news and reporting the news.
Make an inquisition between the language you speak to the top and to the floor.

The top talks money, what is it going to cost, whatis the return.

ToP Long term or short termisn't a difference.

Managing people, know the concernes of things. You need to listen, not to talk to

MANAGEMENT your people. The mistake you make is that you take the management to the top.
People at the top don't get the language of things. You have to translate everything
in the right language. A good manager is biligial.

FLOOR y People talk things. They wil work harder, but they need more things. Ex: new
‘ computers to do the extra mile. Things that make their jobs easier.

Abilities
What can stand the test of time. You develop a certain expertise over time.
There is an implicit assumption that when you have expertise, you can work your whole life as an expert.
But times are changing and so is the need for certain expertise.
The speed and willingness dimension of learning are not related, yet both are important.

1) People who learn quick, but they have low willingness. They are huge

experts, but outside the company they are no expert at all. e @
2) Knowing a little about everything without any or a low foundation.
3) Everyone is looking for this kind of people.

ORO

13

Speed



What can we influence?

- Once someone is hired, forget about speed. Speed is a potential in the hiring process. The
company thinks you can do a lot. The only thing you can do after hiring is using the potential,
but this is a case of willingness.

- Ex:cisco: You can manage the willingness. If you are sitting more than 3 years on the same chair,
you will get fired. Because the first year you have to learn your job, the second year you can do
it, the 3th you have to look for a new job. This new job can be a horizontal or vertical move.
They just want their employees to move around.

- It'simportant to find the capability to constantly reinvent yourself.

Difference between learning and studying is putting your skills to practice. You can apply what you learn,
but it can require study.

Learnability = the capability to learn of the one you hired.

The speed of learning is related to our IQ

- 1Q: derived from the general intelligence, correlated to the learning speed. This is the potential.
It's given and can’t be changed.

- EQ: has an important role in managing people. Willingness can be changed in the organization.

- Foraleadingrole in the organization, they will need an expert with a high 1Q, but also a high EQ
so he/she keeps on learning.

One day or another you will become an expert at something because:

- People think you are an expert, they constantly consult you.

- Onshort term, you learn only one ‘expertise’.

- Paradox of the expert: you keep on learning things from the same subject, but this is dangerous
if the subject disappears. You need to study broader, instead of deeper.

Temperament
We hire attitudes, but we train skills

- Personality is very relevant.

- Selection hires personalities, but once a person is hired this person is not ideal, but you have to
push them into the skill.

- People don’t allow you to change them as a human being, so you can’t tell a stubborn person
he is stubborn. You have to address his behavior with examples and training him not to do this
thing (slamming doors, shouting, being rude) without mentioning the word stubborn.

- Ex:Virgin: “We hire attitudes but we train skills” => you need the right spirit to flight with Virgin.

- Ex: Colruyt: no matter what job you are hired for, you must fill the shelves the first 3 weeks. So
you have respect for all employees

Disposition vs. changeability
Personality model — big 5
Exam: What is your big 5 profile and explain it.
There are 5 dimensions that don’t correlate with each other.
They are difficult to change.
1) Introversion — extroversion
o Introvert: likes to be silent, gets energy in an internal world. It doesn’t mean that
introverts are social or antisocial. They can be social, but they don’t get energy from
being social.
o Extrovert: likes to talk, gest energy when interacting with other people.
o There is a minority that is extremely introvert or extrovert.
o Ex: a good salesman is extravert but sometimes it is more about listening to your
customer. In B2B you have to ride 70.000 km alone in your car, so introvert people
would like these jobs. This introvert can act like an extrovert in order to keep his job.
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Extraverted bosses are predictable. You go into his office and you already know his
answer. A disadvantage is that they talk a lot. They are less good in observing their
people. So they miss signals.

Introverted bosses see what goes around, but they are more unpredictable. This can
make employees nervous.

Ex: a new year’s speech for an extrovert boss is excited, they can talk. They don’t
prepare themselves, but this doesn’t mean that the speech is good according to the
employees. The introverted boss doesn’t like to give a speech. They prepare it, and their
speeches often are good.

In self-perception is sometimes wrong, because we compare ourselves with too little
people. You can be the extroverted introvert in your introverted family, but the outside
world will probably still perceive you as an introvert.

2) Emotional stability

e}

o
o

Indication that employees feel ok with themselves. They aren’t too convinced about
themselves.

Neuroticism people lose sleep at night, and aren’t sure about himself.

As a manager, you have to release energy from people. People need some fluctuation
in their mood/energy.

3) Openness

o T profile: are open, they are journalist, have a broad interest. Ex: Nobel award winners.

o | profile: can dig very deep. But by doing so, are a little bit narrow minded. They are the
nerds of the world.

o Inacompany, you have to make sure that T and | can work together.

o Creativity isn’t a personality, but it correlates to openness. The most creative people
are the T profiles. Creativity means doing/saying something about the things you don’t
know a lot about. So you get more/new perspectives.
| profiles can prevent stupid statements and decisions to be made if a T says something
about the topics he doesn’t know a thing about.

4) Likeability

o Isvery controversial

o Only relevant for frontliners (people who have contact with the customer) and
transactional business (the relationship is not important).

o Ex:the cashier in the supermarket, you take the one with the shortest cue => they are
frontline, but its transactional.

o Likable people can do everything right, and they remain likable, but they can also make
a mistake and remain likable. Unlikable people can do everything right but they will still
be unlikable. But if they make one mistake, customers may never come back.

o If it becomes relational (instead of transactional): the criteria likability becomes
irrelevant.

o Ex: when you search a surgeon, likability isn’t an issue. But during the hospitalization,
you get in contact with nurses. For nurses the likability is very important. Both are
experts, and are not equally evaluated on likability.

o Ex: ‘best friends’ is a relationship, you don’t see the lack of likability anymore.

o Managers are frontline but are not always transactional. The most managers are

relational. Bosses do not to be nice, but it helps at the start of the relationship.

5) Conscientiousness: plichtsbewust zijn

e}

High conscientiousness people: if they do make a promise (doesn’t happen often), they
will live up to it. Disadvantage: they are demanding on themselves and on their
environment.

Less conscientiousness people: the promise can be empty, they are not so self-
demanding, easier going.
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o Out of research there is a small correlation between performance. High conscientious
people perform better. Promises are promises.
o But conscientious salesmen can’t sell software with bugs in.

Assets
e Rest category
e Assets not necessarily work related
e Business development happens over assets
e Happens by hazard: you can be bilingual because your mother speaks French, and your father Dutch. It
wasn’t a choice.
e 2 goldenrules:
- Know the facts
o Know the assets of your people, some of them aren’t work related.
o Canyou make a living based on your assets?
o Assets may be characteristics.
- Take action on time
o Change the solution according to the problem.
o If there is a customer in Spain that has problems during the summer, it's sometimes
smarter and cheaper to search for employees who are on a holiday near the customer
instead of sending employees who stayed home during their holidays.

5. A CAREER GUIDE FOR THE TWENTY-FIRST CENTURY WORKER

e Our employees look at change and learning as job security
e Alljobs are temporary
e Inthe future, security will depend on your developing:
- Employability: if you don’t have added value anymore, you lose your job.
o Functional mobility: job change
o Working more and increase the difficulty
o Mobility: how far will you travel for a job? Are you willing to move?
o Until which age are you sensitive for change.
- Vendor-mindedness: you need to be capable to sell your idea. Because everyone has ideas. You
need to believe in them and convince your environment.
- Resiliency: if the world is rapidly changing, we are going to make mistakes. Careers happen
when you re-event yourself = resiliency. If you fall you have to stand up again so you can re-
event yourself. You have to know success. Yet you need to constantly doubt your success.

6. FOUR LEARNING POINTS

e Learn to see every potential work situation as a market
e Survey your DATA

e Take the results of step 2, and build a business around it. Managing ‘You & Co’
Ex: The Netherlands: ZZP (zelfstandige zonder personeel)
e Learn about the psychological impacts of life in this new work world
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7. THE POST JOB ORGANISATION: SHAMROCK ORGANIZATION (4 LEAVES)

Shamrock organization might have a huge impact of what we are doing. Some parts can be done by
different people.

Ex: Siemens, Kinepolis => Randstad takes over activities.

Leads to dual HRM policies: core employees vs. the others

Ex: the soccer world: the only core employees there, are the board members. They are the only ones
with a vision. The players and trainers are vendors + the supporters have a small influence.

Core employees:

Core employees: not always the biggest group.

Strategic choice: people near the core business. Every company can choice their core business.
The most important employees.

Vendors and subcontractors:

Not only cleaning (ISS) and catering, you can go further.

Ex: seats are not made in Volvo Belgium => you pay too much for them. They outsource the production
of seats to the textile sector, where the wages are lower.

In the future organizations will outsource their strategic, creative ideas, they analyze the market for you.
Reasons: lower price, better quality.

Based on partnerships. More impact/power on a commercial contract than on a labor contract. If the
company promised you 2 people to do the job, you will get 2. Even if one quits.

Customers and clients:

In the relation of being an employee

How is a customer part of my production process?

Ex: You find it normal to take your gasoline at the gas station by yourself.

Ex: E-banking: you don’t have to pay for this service and the bank needs less employees.

E-world: you make your own invoice

The ikeazation of the world: they don't make anything themselves, they only distribute. You have to put
together your own furniture.

Organization of supermarkets.

Ex: Cardoen wants to be the IKEA of the car selling business: he sells firsthand cars. His biggest problem
is buying cars. Because the car companies don't want their cars with other brands together in a
showroom. So he goes to all different garages to find cars that are overstock in the showroom. If the
brand finds out, the seller gets a penalty, or loses his license (Nearly New Car, Mercedes).

Temporary and term hires:

First job

Ex: Big four: educators in the market, but people don't want to stay.

Ex: Ormit: parasites of the labor market: they are making sure that you doubt your choice. Never work
for a big-four company, they say. They offer a contract of 2 years. They promise to employ you at 5 big
organizations. Their business model is to find good employees. They invented the word ‘traineeship for
2 years’. After those 2 years you are free. They coach you every 4/6 weeks. You get group coaching
sessions. That creates some added value. The very nature is temporary hires. Ormit doesn’t have
customers, but members. This means you have to sign a membership agreement. If you like a person,
you have to pay for the 2 years of traineeship. This policy is know for the intern business.

Ex: 3 finance: same concept as Ormit. Big companies can find better profiles through those companies.
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8. THE WHY OF WORK (ULRICH AND ULRICH)

e Leaders are “meaning makers”

- Good leaders make people feel that they’re at the very heart of things, not at the periphery.

- Everyone feels that he or she makes a difference to the success of the organization. When that
happens, people feel centered and that gives their work meaning.

e The financial crises led to a ‘psychological crisis’
e Create: abundant (overvloedig) organizations

- A work setting in which individuals coordinate their aspirations and actions to create meaning
for themselves, value for stakeholders, and hope for humanity at large.

- Has enough of the things that matter most: creativity, hope, resilience, determination,
resourcefulness, and leadership.

- Are profitable organizations.

- Rather than focusing only on assumptions of competition and scarcity, abundant organizations
also focus on opportunity and synergy.

- Rather than accepting the fear-based breakdown of meaning in hard times, abundant
organizations concentrate on bringing order, integrity, and purpose out of chaos and
disintegration.

- Rather than restricting themselves to narrow, self-serving agendas, abundant organizations
integrate a diversity of human needs, experiences, and timetables.

e Create an awareness for ‘making meaning’

- 7 basic questions (niet van buiten kennen):

o What am | known for? (ldentity)

Where am | going? (Purpose & motivation)
Whom do | travel with? (Relationships and teams that work)
How do | build a positive work environment? (Effective work culture)
What challenges interest me? (Personalized contributions)
How do | respond to disposability and change? (Growth, learning and resilience)

o What delights me? (Civility and happiness)

“Most people find about as much meaning in their lives as they make up their minds to find.”
(Ulrich & Ulrich)
- Great leaders “facilitate” their employees in finding their answers on these 7 questions in life.

O O O O O

9. THE 5 FORCES THAT WILL SHAPE THE FUTURE OF WORK

e Technology
e Globalization
e Demography and longevity:
- We are living longer. Since the late 18" century the age of retirement was 65 years. But the
majority didn’t become 65.
- In Europe the age of retirement is sometimes 58, to give young employees a chance on the
labor market.
- Now 67, but the 15 years of pension still need to be financed.
- 40vyears of contribution and 40 years of getting money from the state (as a child and when old).
e Society
- Brain drain to the big cities: once people have studied in big cities, they don’t want to return.
- How attractive am | as a city: do the best employees want to work and live in our neighborhood?
e Energy resources
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10.FLEXING TIME AND PLACE: NEW WAYS OF WORKING

Getting indepented of time and location: we are talking task

Many task can be done in a independent way.

Shift shapers: they can choice when their shifts starts/ends. This is
not possible for blue collar employees.

Remote controllers:

- Virtual meetings: if you work for an international partner,
you still have to be available at the meeting hour, but there
you can choose where you are.

- Helps to solve the mobility problem.

Time Strechers: cleaning (ex: offices) is much easier at night.
Time Lords: reading emails on a Sunday morning.
Has an impact how we look at work

/
Time
Independent

\

Time lords

Time
Stretchers

Location
Independent |

Remote
Controllers
Time
Dependent
Shift
Shapers

Location
Dependent

Ex: lawyer firms who work 24/7, but there are no employees working at night. They work with different

people around the world.

19



V. THE ADDED VALUE OF HR

It's difficult to see the added value of the HR department. They mainly do the salary payments,
insurance, taxes...
Rather than following the crowd in human resource practices, firms should think about being different
can help them create the distinctiveness needed to succeed.

- Be more innovative, make yourself more attractive to the younger generations.

- Ex: employer branding, performance management, salary based on performance
We work with the same people (input). They are average. But once we employ them, they have to
perform better than average.
The cut, cut manager will be replaced with someone who can build, change and develop for the future.
In any company we have to cut, but you don't build trust. So, you have to build up a story.

= HRM helps to build the company.
You might ask the question, who is actually having the power in the organization? Companies are so big,
that a lot of people don’t have the feeling that they are in charge. Even CEQ’s and CFQO’s think they
depend too much on others.

1. EXTENDING THE HR PARADIGM

Control: to maintain, beheersen

Service: HR department: rents a service to the management ﬂ
and to the employees. ﬁ
SLA: service level agreements.

Internal supporting in the organization. e
Decisions: In the future HR will move to talentship: improving —
organizational decisions.

“Talentship is to HR what finance is to accounting or what
marketing is to sales”

“The new
decision
science”

How distinctive is your HR strategy?

How concerned would you be if your major competitor had a copy of your business strategy?
How concerned would you be if your major competitor had a copy of your HR strategy?
What does it mean if HR people would not care too much about it?

Spencer’s Model
Costs versus added value of HR activities.

The reversed relationship between added value and cost. Cost Added Value
Administration of the payroll: AN
- 60% of het cost, but it gives only 10% added value. Planning
- Evolution towards the future: outsourcing administration, there are 30% 30%
cheaper and better options (Randstad). services

- In many organizations, the calculation of salaries is a complex job. If qg
you are too late or give the wrong salary => you get reaction, if you  **
do it right, people take it for granted.

Administration 1